B.A./B.Sc./Part-11/Hons/ECOA-I11/2018

weg faammy
WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours PART-II Examinations, 2018

ECONOMICS-HONOURS

PAPER-ECOA-II |
Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. efifes ST 54F F 5 2T e T
Candidates should answer in their own words AT ST SR T2 ST AT T
and adhere to the word limit as practicable. TeF PRE |
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Use separate Answer Book for each Group and Mention the Group on Answer Book

effoft [FoIraid Gy 92 Teq7Iq TIZIF FCA! 932 Teotaq 17 Aot Sy Feal

Group-A
Rett-+

Answer any three questions from the following: 4x3 =12
fefeiie @-Iel foafe eltas Ted wies

(@) Why demand for inputs called ‘ derived demand’ ?
(T G BIfRwic Tgw bifewl 7o 23 9

(b) Under price discriminating monopoly, price is lower in the market with
more elastic demand. Do you agree with this statement?

RTem TRF GBI FRACH (Fd (@ IS GiRwi Zfez#el @ (12 A
TR WS 9 2 | O3 ISR AL HZA© (oA18e FCR1 7 9

(c) What is*‘dead weight loss' under monopoly?
G FIERICE oSl (I SHIF) o FICF 0T 9

(d) Describe the conditions of exchange-efficiency in a two person, two good
model.

w3 TG @ 42 2/ef] Iof Twee Risagerod e fe 3¢ Feal
(e) Statethe conditions for success of a Cartel.
T TR (Cartel) TR =@l 3 et

Answer any one question from the following: 8x1=8
TS @-IE 95 et Ted wies

(@) Explain how the insurance companies maintain economic viability by
operating on large scale based on the law of large numbers.

I @FrTeE e i waE oex ffere «fpiie 2w Mema
wetafes fofe qem aie 9
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3.

4.

2045

(b) Explain with reasons that a labour supply curve might be backward bending.
HCR Q9N @ 2B 200 AR — 97 el I |

(c) Is there exists any unique supply curve under monopoly? Explain your
answer.

GO FIRAIE @ [HE @isia @ A F 2 (oI Taeaa T JI 7S |

Answer any two guestions from the following:
fasferie @-cea 76 elvse Teg wies

() Explain the concept of Nash equilibrium. Is the duopoly model explained by
Cournot attend a Nash equilibrium? Why the firms will not be willing to
play cooperative game strategy in this case?

T S TS & @A 2 FC T Teee ol g6 Fela Fyx SRPIe)
Tofre 27 9 UG T 4o HRENAISITeT (FTieT IR I 1l (e 2

(b) “Rent is not income of a particular factor of production but merely an aspect
of income of any factor of production”. — Explain.

“Aierel (@ [ReT BT ST T, S R (@ FICN T2 SNTF SR
e — i T

(c) Show that perfect competition is neither necessary nor sufficient to ensure
Pareto optimality.

(w8 (@ “CACH! (Pareto) CRIFST *1$ IS i &y faforaifren sy
SR A AT (P06 |
(d) Write short notes on any two of the following:

fHleTe @-GIel 76 o1 ke Biel Teais

(1) Monopolistic and monopsonistic exploitation of labour
QT PRI 8 RS 2= Ceirel

(if) Adverse Selection and Mora hazards
aifeget foidive @ tafes Rt

(iii) Adding up problem
CMCaf= Tl

(iv) Two person zero sum game.

V2 & *[w) E (L)

Group-B
ett-

Answer any three questions from the following:
feafere @-iel fomft @lvew Tes nies

(a) Distinguish between fixed and flexible accelerator.
T2 8 2T wacsa 2Ny foigholel el

15x2 =30

5+5+5

4x3 =12
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(b)

(©

(d)

(€)

(@

(b)

(©)

(@

(b)

2045

Under what circumstance the short run Phillips curve can be vertical ?

3 sifafEfore Foe et @2l Tag wgiod 20e I ¢

Distinguish between 100% reserve banking and fractional reserve banking.
el AT FIEITE 6 G T [IFTTER AL il Feai

What are the limitations of Keynesian Absolute Income Hypothesis to
explain consumption behaviour?

(Ol9 FIfFS S6=0! 1T (T2 5A Y 2o #{ta Azl [ ¢

Why is disinflation painful? What are the requirements of painless
disinflation?

RSO (T IFNMIS 9 THCARA FeIRCPIBCR S Rarefer & s o

Answer any one question from the following:
TS @-I 9 2ies Teq wies

What are meant by credit creation and credit control? Do you think that the
commercia banks collectively can create credit in a fractional reserve
banking system?

49 332 @ Yol fzrEel FeTce 1 @I 2 il & W Feal Sakfie kel 1w =R
Jifefere Gwel a g A 72 FACo 7w 9

Explain the costs of unanticipated inflation and anticipated inflation.

e YRS € Sl Jurifed ek i1 I |

On what market imperfections does each theory of aggregate supply rely?
What do the theories have in common?

ANET @ANER 2AOFH 0 @FF 8FE e ool e feaier ¢ @3
g W (@i R sAlxRe 9

Answer any two questions from the following:
fersfeife @-ceiea 7fo aeis Tea wies

What is the difference between Transaction theories and Portfolio theories
of demand for money? Explain how money can be treated as an inventory to
show that the transaction demand for money has interest sensitivity.

[ bifEwi Nee-0g ¢ welke wred W AL [ ¢ 9Ll Wepe REid o0 w6
ANS (F (FTT SRFS GIFIF A bifent Jvd 2Ea o e |

What are the different forms of investment? What is Tobin’s ‘g’ ? In what
respect is this theory related with the neo-classical theory of investment?
How isTobin’s‘q’ influenced by stock market fluctuations?

Rfvcir [fon apfoef & &6 ¢ SR g i@ 31 2 @9 7 @0 92 ol
RS T FIFRTE ©red A RIS ¢ CRIF ASEF SIS B[ of
el 2ol 23 ¢

8x1=8

3+5

15x2 =30

3+12

6+2+4+3
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(c) How did the New Keynesian economists explain the stickiness of wages and
pricesin the short-run? — Discuss.
T @AY TN FeIE T Tga R Wi et it SRR 9
D I

(d) What are the instruments of Monetary Policy? Explain how money supply is

related with the stock of “high powered money’. In this connection, show
that, money supply is not totally policy determined.

wifdfe Tfex sepmafs [ & ¢ wda @om e ThwToprE o sleiE
A IS 9 A2 AR (WAlS (@, T @ Wit Al S fraifas w1
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1.

Use separate Answer Book for each Group and mention the Group on Answer Book

efefs [Feiraiz oy 2% Teq7lq 92lF Al 992 Teaoltaq T7 et Srgd Feal

Group-A
o5
Answer any three questions from the following within 100 words each: 4x3=12
AleTe @-GIE! foaft et Ted nie 2fslt oo it e
(a) Distinguish between economic growth and economic devel opment.
Qo T @ SRS Seaataa Wy 2hd et st
(b) Define economic development in terms of capability.
TFTOR (2fFFce SIfoF TRacTE e wie |

(c) Explain the use of Lorenz curve to make judgements on the pattern of
income distribution in a country.

@I (R SRR bfacad [Racw f[oe Resweed o sime @9 35999 i
N

(d) What is meant by demographic dividend?
R I STFIR* o0 6 (IR 9

(e) Why is*Big-push’ needed in aless developed Country?
9T FCaITS SLNOCS CeriCa Qi1 a G & (4 ¢

Answer any one question from the following: 8x1=8
AT - 9315 2ltad Tee mies

(8 From a comparison between Marx and Rostow with regard to stages of
economic growth.

SE(AoF TR B9 KA TFA 9% ACO ol I |
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(b)

(©)

@

(b)

(©)

(d)

Explain the concept of low level equilibrium trap. What are the routes
through which an economy can escape from this trap?

“fCaa OIRPICT Piw-a9 Giellfs i el [Feid 9l (o #ieE @ T
(I & e 7 ¢
Discuss the role of capital in economic development of a country.

GFT (TR SLATST TRAC TETCA I S FEAl |

Answer any two guestions from the following:
faferie @-cea 76 elvse Teg wies

What factors are responsible for differences in technological choice between
less developed and developed countries? Discuss in this context the conflict
between employment and surplus generation in the process of choice of
techniquesin less devel oped countries.

Taee @ SR (e Wiy elYfe v T [ O Rem mm ¢ @ e
T lleT (TCe] TA (FIIET BT e FORE @k Tge Fyercera Wy Reai
I A S

Define Head-Count ratio and Income-Gap ratio. Indicate their limitations.
How does Sen’ s poverty measure avoid these shortcomings? — Explain.
T @elfS TGS @R ¢ WF-FIF TPoIe’-a7 el wie | wifdemd sAfasiems =oE
qefor Fael [0 Sl GieR wifke sl [Folm 2 whef auits i ¢
R AT

Explain the concept of sustainable development. In this context explain the

process of environmental accounting in determining sustainable Net
National Product (NNP) in any country.

SR A TN SR Q19N i TR @B @A @I (red! T TG we
Teoime (NNP) fadfacea g wifacaione 211 »rafeft i e

What is balanced growth? Give arguments in favour of balanced growth
strategy. How these strategies differ from unbalanced growth strategies?

I T TS A 9 HIo S (ST FAACH Y& w8 | @7 AN TP T
FrErelR AN & & 9

Group-B

etol-2
Answer any three questions from the following within 100 words each:
ffeie @-@ i feafe et Tea e afof Soo *Ita s

() Givereasonsin favour of protection of commerce.

ifeey forEcera #IceF Yferafer SNCEHa FC |

(b) Discussthe functions of International Monetary Fund.

2046

eeo 39l SISIEs SR 9o w6l

15x2 =30

5+10

3+4+8

8+7

4+5+6

4x3 =12
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(©)

What do you mean by “Unequal exchange”?
o R FeTce 6 QI 9

(d) What do you mean by ‘ decentralised planning’ ?

(€)

(@

(b)

(©)

(@

(b)

(©

(d)

2046

RTape +FFam’ Ie7ce & @IRN ?
What is ‘ Import substitution’?
Sl P’ FIF 0 9

Answer any one question from the following:

e @-ie 916 2t Ted wies

“Trade acts as an engine of growth” — Write a short note in this context.
“iferey Wi [P Bifeemie ol TS F@1” — G2 I @6 REFS GiFl
(eTCT

Write a critical note on the ‘ Structural adjustment programme’ of IMF.

IMF -3 ‘SIS FRFIK TP’ 8917 A6 ANCEAGAREE DIt @Il |
Discuss how the development of the centre leads to the under development
of the periphery.

R Taae RFoiR AR S (50t (v ol SCEsa I |

Answer any two guestions from the following:
fasferre @-coieat 7t elcss Teg wies

What are the salient features of multinational corporations? Critically
examine the role of foreign multinationals in fostering the process of
economic development of |ess developed nations.

FeEifos WwESlR g @REel Srae w@ FaTe (mieln wdEies
T e qeeifos wEele (@ Sfiwl 2o w0, OiF FAACEbINETE il
&l

Write a critical note on the policy of export promotion as an effective means
of industrialisation.

iR s AR aQi-a73 Gifer sl A a3 FEHaERs 56l
(TCAN

What is the ‘infant industry argument’ for protection? Critically examine the
infant industry argument for protection, with examples.

‘P -t RTTD FIE A0 9 Tre-Fre ke IS Swiged ACENBI7ES
D FCANN

Do you support the Prebisch-Singer thesis? Justify your answer.

9f¥ i Prebisch-Singer g6 e Tt ¢ Jfemz (o Tes afsfde Tt

8x1=8

15x2 =30

5+10

15

5+10

7+8






